Math 141 Quiz #4 ' April 23, 2013

Name: K &&/ Section:

I Question I Answer I There are 6 multiple choice problems, and 2 short

1 =) answer problems. You have 30 minutes to com-

2 P plete the quiz.

i é Please mark all multiple choice answers in
the box provided.

2 % For the short answer, show all work.

1. Suppose that f is some invertible function where f(3) = 5‘ f(4) = i =7 an& f'(4) =11. l

What is (f~1)(3)?
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3. Evaluate the following: lim =z - ln
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4. Does the integral / — dz converge? If so, what does it converge to?
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5. Evaluate the following:
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6. Determine if the SEQUENCE converges. If it converges, find the value to which it converges.
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7. (2 points). Find the interval of convergence of the power series xz— gnn‘
Be sure to determine what happens at the endpoints. "~ l
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8. (2 points). Find the Cartesian point where the slope of the parametric curve equals 2
z(t)=t+1
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